

lec 13:-

$$\text{adj}(A) = \begin{pmatrix} A_{11} & A_{21} & \dots & A_{n1} \\ A_{12} & A_{22} & \dots & A_{n2} \\ \vdots & \vdots & \dots & \vdots \\ A_{1n} & A_{2n} & \dots & A_{nn} \end{pmatrix}$$

$$* \det(\text{adj}(A)) = \det(A)^{n-1}, \quad n \geq 1$$

$$* A \text{adj}(A) = \det(A) I$$

* If A is nonsingular, then

$$\textcircled{1} A^{-1} = \frac{1}{\det(A)} \text{adj}(A)$$

$\textcircled{2}$ $\text{adj}(A)$ is also nonsingular

Now: If A is singular :-

$\textcircled{1}$ $\text{adj}(A)$ is singular

$\textcircled{2}$ $A \text{adj}(A) = 0_{nn}$ important
zero matrix

$$* A_{n \times n}, B_{n \times n} \Rightarrow AB = 0$$

$$\det(AB) = \det(0) = 0$$

$$\det(A) \det(B) = 0$$

عدم وجود العكس

$$\det(A) = 0 \quad \text{or} \quad \det(B) = 0$$

• A is singular \Leftrightarrow B is singular

If $AB = 0_{n \times n}$ and $A, B \neq 0_{n \times n}$

لوجود هنا العكس
توقف التبرير

Proof

• Then A and B are singular

We have $AB = 0$

If B is nonsingular $\xrightarrow{B^{-1}}$ $ABB^{-1} = 0B^{-1}$

But it's not zero $\leftarrow A=0$

- so B is singular
- Similarly A is singular

Question 8 :- 2.3 :-

$$\det(\text{adj}(A)) = \det(A)^{n-1}$$

⊕ Question 10 :-

If A is nonsingular, then $\text{adj}(A)$ is nonsingular and $\text{adj}(A)^{-1}$

↳ $\text{adj}(A)^{-1} = \det(A^{-1})A = \text{adj}(A^{-1})$

Proof

① $\text{adj}(A)$ is nonsingular

$$A \text{adj}(A) = \det(A) I \quad \text{---}^*$$

$$\begin{aligned} \dots & A \text{adj}(A) = \det(A) I \\ \left(\begin{array}{c} I \\ \det A \end{array} \right) A \text{adj}(A) &= I \det(A) I \\ \text{adj}(A^{-1}) &= \frac{1}{\det(A)} A \quad \text{---} = \det(A^{-1}) A \end{aligned}$$

* حوضه A^{-1} و A (ق) *

from * :- $A^{-1} \text{adj}(A^{-1}) = \det(A^{-1}) I$
 ضرب A للطرفين
 $\text{adj}(A^{-1}) = \det(A^{-1}) A$

Proof

So $\text{adj}(A)^{-1} = \text{adj}(A^{-1}) = \det(A^{-1}) A$

Exercise* If A is nonsingular, Then

$(A^{-1})^{-1} = A$

Proof

$AA^{-1} = I \rightarrow$ هذه هي A^{-1} و A inverse
 So $(A^{-1})^{-1} = A$ A و A^{-1} inverse
 A^{-1} inverse A

Question 12, 2.3

if determinant $(A) = 1$ show :-
 وجود هذا الشرط

$\text{adj}(\text{adj}(A)) = A$

Proof

من $\text{adj}(A)$ و $\text{adj}(\text{adj}(A))$
 من $\text{adj}(A)$ و $\text{adj}(\text{adj}(A))$
 *

$\det(A) = 1 \rightarrow A$ is nonsingular
 $\text{adj}(A) \cdot \text{adj}(\text{adj}(A)) = \det(\text{adj}(A)) I$
 $\Rightarrow \text{adj}(A) \text{adj}(\text{adj}(A)) = (\det(A))^{n-1} I$
 $\text{adj}(A)^{-1} \text{adj}(A) \text{adj}(\text{adj}(A)) = I$ $\text{adj}(A)^{-1} \text{adj}(\text{adj}(A))$
 $\text{adj}(\text{adj}(A)) = A$ $(\text{adj}(A))^{-1}$
 $(\text{adj}(A))^{-1} \text{adj}(\text{adj}(A)) = I$ $(\text{adj}(A))^{-1} \text{adj}(\text{adj}(A)) = I$
 $\text{adj}(\text{adj}(A)) = A$ $(\text{adj}(A))^{-1}$

الطريقة اخرى :-

$$\text{adj}(A) (\text{adj adj}(A)) = I \quad \text{if } A \text{ is } n \times n$$

$$\text{adj}(A) = [\text{adj adj}(A)]^{-1} \quad \therefore \text{NSI}$$

Question 9 :-

$A_{4 \times 4}$

$$\text{If adj}(A) = \begin{pmatrix} 2 & 0 & 0 & 0 \\ 0 & 2 & 1 & 0 \\ 0 & 4 & 3 & 2 \\ 0 & -2 & -1 & 2 \end{pmatrix}$$

① $\det(\text{adj}(A))$

② $\det(A)$

③ A

$$\det(\text{adj}(A)) = \begin{vmatrix} 2 & 0 & 0 & 0 \\ 0 & 2 & 1 & 0 \\ 0 & 4 & 3 & 2 \\ 0 & -2 & -1 & 2 \end{vmatrix}$$

$$\begin{matrix} -2R_2 + R_3 \\ R_2 + R_4 \end{matrix} = \begin{vmatrix} 2 & 0 & 0 & 0 \\ 0 & 2 & 1 & 0 \\ 0 & 0 & 1 & 2 \\ 0 & 0 & 0 & 2 \end{vmatrix} = 8$$

upper triangular

② $\det(A) \Rightarrow \because \det(\text{adj}(A)) = \det(A)^3 = 8$
 $= \boxed{\det(A) = 2}$

$$\text{adj}(A)^{-1} = \frac{1}{\det(A)} A$$

$$A = \det(A) \text{adj}(A^{-1}) = 2 \quad (\checkmark)$$

Remember:- $(B)^{-1} = \frac{1}{\det(B)} \text{adj}(B)$

B^{-1} w $\text{adj}(A^{-1})$ to B^{-1} So $\text{adj}(A^{-1}) = \frac{1}{\det(\text{adj}(A^{-1}))} \text{adj}(\text{adj}(A^{-1}))$

Cramer's Rule:-

$$A^{-1}b = x \quad \leftarrow \text{Remember}$$

If $A_{n \times n}$ is nonsingular, then

The unique solution of $Ax = b_{n \times 1}$

is given by:- $x_i = \frac{\det(A_i)}{\det(A)}$ where

A_i is obtained from A by replacing

the i th column of A by b

Ex: Solve by Cramer's Rule:-

$$x_1 + x_2 + x_3 = 1$$

$$-x_1 - x_2 + 3x_3 = -1$$

$$2x_1 + x_2 - x_3 = 2$$

$$A = \begin{pmatrix} 1 & 1 & 1 \\ -1 & -1 & 3 \\ 2 & 1 & -1 \end{pmatrix}$$

$$\det(A) = -2 + 5 + 1 = 4 \neq 0$$

A is nonsingular:- $x_1 = \frac{\det(A_1)}{\det(A)} = \frac{\begin{vmatrix} -1 & 1 & 1 \\ 2 & -1 & 3 \end{vmatrix}}{4} = 1$

$$x_2 = \frac{\det(A_2)}{\det(A)} = \frac{\begin{vmatrix} 1 & 1 & 1 \\ -1 & -1 & 3 \\ 2 & 2 & -1 \end{vmatrix}}{4} = \frac{0}{4} = 0$$

$$x_3 = \frac{\det(A_3)}{\det(A)} = \frac{\begin{vmatrix} 1 & 1 & 1 \\ 1 & 1 & 2 \\ 2 & 2 & 2 \end{vmatrix}}{4} = 0$$

So $X = \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix}$ A unique solution

$A_{4 \times 3}$ matrix, $a_2 = a_3$, $b = a_1 + a_2 + a_3$

The system $AX = b$?

$$X = \begin{pmatrix} x_1 \\ x_2 \\ x_3 \end{pmatrix} \text{ is a sol } x = \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix}$$

$$b = a_1 + 2a_2 + 0a_3$$

a sol: $\hat{x} = \begin{pmatrix} 1 \\ 2 \\ 0 \end{pmatrix}$ is a solution

So it has infinite solutions \leftarrow has infinite # of sol

another one $\hat{\hat{x}} = \begin{pmatrix} 1 \\ 0 \\ 2 \end{pmatrix}$

Question II :- 1.3 , $b = a_1 + a_2 + a_3 + a_4$

$$\boxed{Ax=b} \quad \text{and} \quad \boxed{A_{3 \times 4}}$$

↓
underdetermined \rightarrow infi. Sol
or No Sol

$$b = a_1 + a_2 + a_3 + a_4$$

$$X = \begin{pmatrix} 1 \\ 1 \\ 1 \\ 1 \end{pmatrix} \text{ is a Solution}$$

So $Ax=b$ is Consistent
 \rightarrow So infi. # of solutions

Question II :- $A_{5 \times 3}$

$$\underline{b = a_1 + a_2 = a_2 + a_3}$$

$$Ax=b$$

$$X = \begin{pmatrix} 1 \\ 1 \\ 0 \end{pmatrix} \text{ and } \begin{pmatrix} 0 \\ 1 \\ 1 \end{pmatrix}$$

are solution

• So $Ax=b$ has infinite number of solutions

$$\rightarrow b = a_1 + a_2 + \alpha(a_3 - a_1)$$